Restar de Ceros (H)

10000
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10000
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10000

- 5574
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1000

-112

1000
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1000

-72

Halle cada diferencia.

10000 10000
- 1822 - 8023
10000 10000
-6701 -8714
1000 1000
- 457 -910
10000 10000
- 2764 -8616
10000 10000
-7623 - 943
10000 1000
- 8125 - 310
10000 10000
- 768 - 759

10000

- 8685

10000

- 2384

1000

-227

10000

- 5669

1000

- 349

1000

- 284

1000
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Restar de Ceros (H) Respuestas

10000

- 8072

1928

10000

- 5788

4212

10000

- 5574

4426

1000

-594

406

1000

-112

888

1000

- 993

1000
-72

928

Halle cada diferencia.

10000 10000
- 1822 - 8023
8178 1977
10000 10000
-6701 -8714
3299 1286
1000 1000
- 457 -910

543 90
10000 10000
- 2764 -8616
7236 1384
10000 10000
- 7623 - 943
2377 9057
10000 1000
- 8125 - 310
1875 690
10000 10000
- 768 - 759
9232 9241

10000

- 8685

1315

10000

- 2384

7616

1000

-227

773

10000

- 5669

4331

1000

- 349

651

1000

- 284

716

1000

-105

895
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